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QUESTION 1

Your switch is experiencing a problem where a port that should have only one host connected occasionally shows that
multiple MAC addresses are being learned. 

Which configuration setting would ensure that no extra hosts can join the network using this switch port? 

A. mac-limit 

B. no-mac-learning 

C. persistent-learning 

D. bpdu-block-on-edge 

Correct Answer: D 

 

QUESTION 2

-- Exhibit -(MSTI 2 regional root: 16386.2c:6b:f5:3e:f8:01) 

{master:0} 

user@switch> show spanning-tree interface 

Spanning tree interface parameters for instance 0 

Interface Port ID Designated Designated Port State Role port ID bridge ID Cost 

ge-0/0/6.0 128:519 128:519 16384.80711fbc 20000 BLK ALT ge-0/0/9.0 128:522 128:522 

53248.2c6bf591a441 20000 FWD DESG ge-0/0/10.0 128:523 128:523 8192.80711fbe8110 20000 FWD 

ROOT ge-0/0/12.0 128:525 128:525 49152.2c6bf53ef801 20000 BLK ALT 

[...] 

-- Exhibit -

Click the Exhibit button. 

While troubleshooting an MSTP operation in your network, you see the output shown in the exhibit on one 

of your switches. You know that the MSTI 2 regional root bridge ID is 16386.2c:6b:f5:3e:f8:01. 

Which port is attached to the root bridge of MSTI 2? 

A. ge-0/0/6 

B. ge-0/0/9 

C. ge-0/0/10 
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D. ge-0/0/12 

Correct Answer: D 

 

QUESTION 3

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

The exhibit shows a small switched network, some details about the MSTP configuration in the network, 

and the VLANs that are trunked over each link. When Switch2 reboots, users in VLAN 400 on Switch3 

report that they lose connectivity to resources in VLAN 400 on Switch4. 

What is the cause of this problem? 

A. There are mismatched bridge priorities. 

B. There is a mismatched MSTP configuration name. 

C. VLAN 400 is not trunked between Switch1 and Switch3. 

D. VLAN 400 is trunked between Switch3 and Switch4. 

Correct Answer: C 

 

QUESTION 4

-- Exhibit 
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-- Exhibit -Click the Exhibit button. 

You are troubleshooting an OSPF adjacency problem between R1 and R2. 

Referring to the exhibit, what is causing this OSPF adjacency problem? 

A. There is a hello interval mismatch. 

B. There is a dead interval mismatch. 

C. There is an MTU mismatch. 

D. There is an LSA refresh timer mismatch. 

Correct Answer: C 

 

QUESTION 5

-- Exhibit -policy-options { 

policy-statement accept-static { 

from protocol static; 

then accept; 

} 
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} 

-- Exhibit -

Click the Exhibit button. 

The policy shown in the exhibit is deployed on a router and used as the only BGP export policy. The router 

is sending only one BGP route to its peers. However, when you run the CLI command test policy accept-

static 0.0.0.0/0, the policy matches thousands of routes. 

Which statement explains this discrepancy? 

A. All policies have an implicit then accept final term. 

B. The default policy for BGP is to reject all routes. 

C. The default policy for the test policy command is to accept all routes. 

D. The test policy command always shows all routes, regardless of whether they match the policy, when you use the
0.0.0.0/0 argument. 

Correct Answer: C 
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